N
250 500 m

B

7

iy
=

=

£ VW\VJJ 4 b

SNV e
N eSS

X(S=1:25,000)

-
~
/.

)

FE(RIERH O FRER)

[]]]=1
i c
i E
o
._7.% NA
2
IR = N
o= Il
1) ﬁ_«Z +- 12 o
- =] = Bk
- S|8|ur|E u
15 (2| |2 &
= des_jmm._m
o x| 9| = [Fe
vs 88| L
[ -
|56 (oo [oF [ |EK
= [
T I =
N I
g [BE Kd
W [ [3E (HE (S (s

{31 1& X (S=1:200,000)




REMBORREXEGASE

HH3—1 BEOEIINDHLLM ELLVEEDEZNDHS LI HORER

2 1B 2 0O s BREs 065110052

TR ERIIEE

Z N

EZLWVEEDOSTNOHHLHO R
0 20 40m BEODEFNDOHHLHDXE
ey — THREOHBEEHIMERE X D
1/1,000 TREDOBEIZLSHH100kN, mEEE 2 5 F66H
HEIT S
(ZERE /

a T R \

PZE




RIER O FRIR R EGHE

HH3—2 EEYICEMT HLBESNHEEIBIS HFIA1/1) ) ) _ i REFE | Tk2onk
2MEROME | BMES | 063A1005-2 | i | HEEES % | Rt [ PN
) SERMO TimICHEET 51 aER A
ﬁg TREOBEBOTILEHOKRES TREDHBEEILEHLOKRES TEFEOBBOEILHOKRES TREOHBESSLADKRES
&S X 4 Er%r'n? ‘Fﬁﬁh\(‘z)@ﬁ%ﬁ jj(grzfrf)é X 4 ﬁﬁﬁzgw ‘(r%r‘n? jj(grzfrf)é X 4 E.é,r‘n‘c; J:ﬁn“ﬁ;b\(i)d)tt‘.%' jj(lfr?fn%é X 4 J:ﬁn“ﬁ;b\(i)d)tt‘.%' ‘(.%.r'n‘c;f jj(ﬁfn%é
7 100kN/mM%E#BZ % - -~ - -|3mZEBZD -~ - - -] 100kN/m#%#8% % - -~ -|3mEi#BR B ~ -
zhst - -~ - -l FRS -~ - - - zhst -~ s ~
2 100kN/mM%#BZ % - -~ - -|3mZEBZD -~ - - -| 100kN/m#%#8% % -~ -|3mEi#BZ B ~
s 1.00 | 0.00 ~ 5.21 64.99 | ThS | ooo ~ 521|201 10.77 ThList 1.00 | 5.00 ~ 6.50 64.99 | Thst | 5.00 ~ 6.50| 2.01 10.77
3 100kN/mM%BZ 5 - -~ - -|3mZEBZD -~ - - -| 100kN/m#%#8% % ~ -|3mEi#BR B ~
s 1.00 | 0.00 ~ 7.30 93.06 | =nLS | 000 ~ 730 1.91 10.20 s 1.00 | .00 ~ 954 93.06 | =hLs | .00 ~ 9.84 | 1.91 10.20
4 100kN/m%#8%2% | 1.00 | 000 ~ 327| 1562.38 |3m&EBZ2B| 000 ~ 108\ 3.49 18,67 | 100kN/m%ZE#BZ% | 1.00 | 10.77 ~ 4984 | 152.38 |3m%E#BA S| 30.00 ~ 49.814| 5.49 18.67
s 1.00 | 827 ~ 1105 100.00 | #nLst | 1.08 ~ 11.05] 3.00 16.05 ThList 1.00 | 6.00 ~ 1077 100.00 | =nst | 6.00 ~ 3000 3.00 16.05
5 100kN/m%#8%2% | 1.00 | 000 ~ 328| 1562.48 |3mEBZ3B| 000 ~ 1.08| 3.49 18.68 | 100kN/m%i#Bz5 | 1.00 | 1077 ~ 4984 152.48 |3mERBZB| 30.00 ~ 49.84| 3.49 18.68
s 1.00 | 328 ~ 1106 100.00 | NSt | 1.08 ~ 11.06] 3.00 16.05 ThList 1.00 | 6.00 ~ 1077 100.00 | =nst | 6.00 ~ 3000 3.00 16.05
p 100kN/m%#8Z% | 1.00 | 000 ~ 280 144.25 |3m%EBZ%| 000 ~ 087| 3.37 18.05 | 100kN/m#%#B25 | 1.00 | 11.31 ~ 49.00| 144.25 |3mEBZB| 4000 ~ 49.00| 3.37 18.05
s 1.00 | 280 ~ 1058 100.00 | 0Lt | 0.87 ~ 1058 3.00 16.05 ThList 1.00 | 5.00 ~ 1131 100.00 | =nst | 6.00 ~ 4000 3.00 16.05
7 100kN/m%#8%2% | 1.00 | 000 ~ 378| 161.42 |3mEBZ23B| 000 ~ 140\ 3.69 19.77 | 100kN/m%#B25 | .00 | 1054 ~ 4782 161.42 |3mERBZB| 2500 ~ 47.82| 3.69 19.77
Thilst 1.00 | 378 ~ 1156 100.00 | ThLS | 1.40 ~ 11.56] 3.00 16.05 Thilst 100 56,00 ~ 1054 100.00| FnLS | 5,00 ~ 2500 3.00 16.05
100kN/ Mm% Z 5 ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Ths ~ Ths ~ Ths ~ ZhLst ~
100kN/ Mm% Z 5 ~ 3mEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ Ths ~ Ths ~ st ~
100kN/ Mm% Z 5 ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ Ths ~ zhs ~ ZzhLst ~
100kN/ Mm% Z 5 ~ 3ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ Ths ~ Ths ~ st ~
100kN/ Mm% Z 5 ~ 3ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ zhs ~ Ths ~ ZzhLst ~
100kN/ Mm% Z 5 ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ Ths ~ Ths ~ ZzhLst ~
100kN/ Mm% A5 ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Ths ~ zhs ~ Ths ~ st ~
100kN/ Mm% A5 ~ ImEHBRD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhst ~ zhs ~ Thst ~ ZhnLst ~




